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Read the following instructions carefully before you begin to answer the questions

10.

11.

IMPORTANT INSTRUCTIONS

. You will be supplied with this question booklet 15 minutes prior to the commencement of the

examination.
This Question Booklet contains 100 questions.

. Before answering the questions, you .shall check whether all the questions are printed serially and

ensure that there are no blank pages in the question booklet. If any defectis noticed in the question
booklet, it shall be reported to the invigilator within the first 10 minutes. and get it- replaced with
a complete question booklet. If the defect is reported after the commencement of the examination,
it will not be replaced.

Answer all the questions. All the questions carry equal marks.

. You must write your Register Number in the space provided on the top right side of this page. Do

not write anything else on the Question Booklet.

. An answer sheet will be supplied to you separately by the room invigilator to shade the answers.

Instructions regarding filling of answers etc., which are to be followed mandatorily, are provided
in the answer sheet and in the mem”oranduin of admission (Hall Ticket).

You shall write and shade your question booklet number in the space provided on page one of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated.

. Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to

select ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer
sheet. If you feel that there are more than one 90rrect answer, shade the one which you consider
the best. If you do not know the answer, you have to mandatorily shade (E). In any case, choose
ONLY ONE answer for each question. If you shade more than one answer for a question, it will be
treated as a wrong answer even if one of the given answers happens to be correct.

. You should not remove or tear off any sheet from this Question Booklet.You are not allowed to

take this Question Booklet and the Answer Sheet out of the Examination Room during the time of
examination. After the examination. you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

You should not make any marking in the question booklet except in the sheets before the last page
of the question booklet, which can be used for rough work. This should be strictly adhered to.
Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion.

[Turn over]

GS05-270524 www.mntfreeias.com



'PSC - Group - IV & VAO Exam - Online Test Series

LuGS-< - Qurs Sidley
Part-B- General Studies

Test - §

dernsser : 1 - 100 Qwrss wLSHICLICTTSET
Questions : 1 - 100 Total Marks

: 150
: 150

1. Which of the following planets can float on water?
ahs Camerned Famentfle WHss Quigyd?
(A) Jupiter
edlwirLp it
(B) Saturn
Fetl
(C) Uranus
wCrrerev
(D) Neptune
QB L11q- W, 6T
(E) Answer not known
aenL Qg flwellcene

2. Which of the following is incorrectly stated?
Spsaam_upner SeupTen Fmphm ers?
(A) Saudi Arabia is the largest oil producer of the world.
2 wdlenr WsLGUflw erawCenry 2 pusHwrery Foydl HCrwm
(B) Russiais the second largest oil producer in the world.
2 wdlenr @ramneug WsLGUAW eramwCen 2 HuUSHwmer) Fegwm
(C) Indiais the 4th largest producer of oil in the world.
2 wdlen prensreug WsLGQUAw erawbenrl 2 HusHwrery QbHwim
(D) The Middle East contains 60% of global reserves.

2 & eramCenrl @@L 60% @ wsHwu HpsE Brh\ser Cl&mer @ ererer

(E) Answer not known
en Qgflwellceme

3. Which country has the maximum number of neighbours touching its border?

apg BIH Hs canraflsamsulicorer eamren,.  BTHSEHLGT  6TENNSEMETS

Q& memr (R eTemg) ?

(A) China
Eenr

(B) Canada
SeLT

(C) Russia
T oG WIT

(D) India
@pSun

(E) Answer not known
len Qg flweillcene
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4. Most anthropologists believe that hundreds of thousands of years ago humans first

appeared in
BIDN&SausEsner, PUIrsEsarssEtar PaTHSEHEEG (W6l LaNsFser (psei
Camerdlw QL 1b eremm ey eNWQTETTHET HLDL|GUS)
(A) The Euphrates and Tigris valley
wliresy wHMD emLsflev LTaTSHSHNE S
(B) The Indus valley of Asia
pflurelflen Apg LETTSFHTES
(C) The Great Rift Valley in East Africa
dpse Y uiflssreled CQuflu Weteyll UdTaTEETEES
(D) The Nile valley of Africa
QUiflEsrellenr enped LeTaTSSTSE S
(E) Answer not known

aenL Q5 flwellcenec

5. Choose the incorrect pair:

saupren @enewmenwd CHIHOS0H!:

I. Hottest Planet - Venus
Qauliuwren Gamer Qeuerafl
II.Ringed Planet - Neptune
cuenerwid 2 erer Gamer @B L11q- L, 6T
III. Red Planet — Mars
QepHnsCamer Q&eueuml
(A) Ionly
| @
(B) IIonly
I L@

(C) IIonly
Il @
(D) MandIII
Il whgp Il
(E) Answer not known

aenL Q5Flwelcenc
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6. Which of the following oceans is the busiest ocean?
Sflswrer sLiLd CursGarsg BenLCumbd CU@mEISL
(A) The Pacific Ocean
udls CuprsL 6
(B) The Atlantic Ocean
Sl oonariqd GClLpEI&SL
(C) The Indian Ocean
QB HWLCLHRISL
(D) The Arctic Ocean
A TE9.E QUHBISL 6D
(E) Answer not known
en Qg flwellcene

7. Anarrow strip of water that connects two large water bodies
Qream® Briugdsmer Qamansgbd @mdw Bil ugdH
(A) A Strait
Bisis
(B) AnIsthmus
SmEL e
(C) AnIsland
S
(D) ATrench
SusmLLd
(E) Answer not known
enL Qg flweilcene

8. Consider the following statements.
Nemreueueneupmier sflwnen smpm/smpmsenearsd CsiHolswH:
Statement I: Mountains are second order landforms.
gapm 1. wenosear @ramLmd Hlaw HosiCsrhmriser g GLWb
Statement II: The Mariana Trench is the deepest trench in the world.
gapm 2. WBsebd wwrar sl wiluram s
Which of the statement(s) is/are true?
(A) Iistrue;Iliswrong
spm 1 &f, smpy 2 soum
(B) Iiswrong;Ilistrue
sapm 1 seug, spm 2 &f
(C) Both the statements are true
Quean® sapnseEpd &ifl
(D) StatementsI and II are wrong.
Qran® FmOHnSEHL Feum
(E) Answer not known
cdlenL Qg flwellcvene
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9. Choose the incorrect pair:

saupren Qenamenwd CxiH0SE0H!:

I.The South Sandwich Trench -

Cpenanen_elld &L

II. The Milwaukee Trench -

Boaursd s

II1. The Mariana Trench -

wflwrerm s
(A) Ionly
| b @b
(B) IIonly
Il @b
(C) IIonly
I @
(D) I andIII
Il womw [l
(E) Answer not known
enL Qg flweildeme

10. Match
Qumrmsgis:
a. Natural resource
Qupens euerd
b.Non-renewable
Hau9ss Quensg
c.Universal resource
2 aemmellw Guerd
d.Secondary Activities
@rewLmd flenew QFweur@ser
(a) 3124
(B) 1234
(C) 4213
(D) 1342
(E) Answer not known
aenL Q5 flwelcenc

The Artic Ocean

A TE9.E5 QUIHRISL 6
The Atlantic Ocean

Sl onariqd GClLpHEI&EL
The Pacific Ocean

udlNs QupREIEL

— 1. Air
snpm)
- 2. Minerals
& &l Lo 11 & @i
- 3. Manufacturing
2 HuSSH QEuige
- 4. Forest
LN

GS05-270524
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11. Which is not the western margin of Asia?

pflwrelenr CuhE aomaulcer @Qomrsg org?
(A) Black Sea
& (1HBI& L0
(B) Mediterranean Sea
LU SOTESL 6
(C) Red Sea
QEFmsL 6
(D) Arabian Sea
TN & &L 6
(E) Answer not known

en Qgflwellcrene

12. Match listI correctly with list II and select your answer from the codes given below.
uligwe 1 @ uligwe 2 2Ler Qurmss, ECp Qarhssliul Berer GHuUIGSmens
Qarar® Fflwren allew_enwsd CsrH6ls®H

List - I List —II
uliguwe 1 Ul iguicy 2
a. Malaysia - 1. Figs
wGedwmr 355
b.Thailand - 2. Rubber
STIGTHS) yN[E))
c. Korea - 3. Teak
Qamflwm Czs©
d. Israel - 4. Cherry
[N ) Q&

A) 2,3,4,1
(B) 4,3,2,1
(C) 4,3,1,2
(D) 2,3,1,4
(E) Answer not known

en Qgflwellcrene

GS05-270524 5 www.mntfreeias.com
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13. Choose the correct statements/statements from the following related to Equatorial
climate:
HopR&CsrHé sroblame ererug)
I. Uniform throughout the year.
par® peugd @Cr wrHflurs @ msELW
II. The average / mean rainfall is 200 mm.
gynefl wenpwere] 2000.15 <y @
II1. The average temperature is 10°C.
grnsfl GQeuliuflene 10°C gy,
Copsear, Fopmsaeflc
(A) Ialoneis correct
| L@ &
(B) II and III are correct
Il womid [ Ff
(C) IandIII are correct
| wHombd 1l &f
(D) IandII are correct
| womd Il &f
(E) Answer not known
en Qg flwellcrene

14. The natural boundary between Spain and France is
avGuuder wHMWD KrTeravdE QenLwlled QupenswTsGol HenLohF6TeT 66 e6n e
(A) The Alps
<2}, G LI

(B) The Pyrenees
60 LIIT 6o 6lv

(C) The Carpathian
sryGL Swi e

(D) The Caucasus
& TS GG

(E) Answer not known
enL Qg flwellcene

15. Choose the incorrect pair.
saupren @enemenwd CHIHOS0H!:

(A) The Meseta - Spain
QuwenLrm evGILIuS) 6ot
(B) The Jura - France
egogm L9 i 6T 670
(C) The Pennines - Italy
Gl et ciren 8sznal
(D) The Black Forest - Germany
&(HEIST([H & 6T Gl e

(E) Answer not known
len Qg flwellcrene
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16. Indiais the leading producer of .
QbHwim o2 pusHler penementl cudlsHemg
(A) Zinc
&SSHISLD

(B) Mica
MG ST

(C) Manganese
LD & Gof &

(D) Coal
Hles sl

(E) Answer not known
en Qgflwellcene

17. Assertion (A) : Italy has dry summers and rainy winters

gpm (a) @ @5, aupear, CsrenL sToSmzwbd, Gefifsmrew wenpenwubd

Clum m) eirer g

Reason (R) : Itis located in the Mediterranean region

smped (R) | @8 wsdHu sorssLd UGHuld emwhgldrers)

(A) Both A and R are individually true, and R is the correct explanation for A
(A) wpmid (R) @reaw@d &fl. Coaid (R) ererug a) eln@ sflwrer
Mer& s G

(B) Both A and R are individually true, but R is not the correct explanation for A
(A) wpmbd (R) @rer@w &fl. Coaubd (R) ererug (A) @ sflumer
dlem& &6

(C) Aistrue,butRis false
(A) &fl, g emmed (R) seum

(D) Aisfalse,butRistrue
(A) saum, e (R) &fl

(E) Answer not known
en Qg flwellcene

18. The area found between 0° and 180° E lines of longitude is called
00 wao 1800 fps&E Sis5&5CanhH eueny smawlu@b yell u@gd Qeieumm
SMPSSLILIHILD
(A) Southern Hemisphere

CsDE SmrsGsmerd
(B) Western Hemisphere
ConE SarsCsmerd
(C) Northern Hemisphere
AULEG mrsGamernid
(D) Eastern Hemisphere
Aps@ SamrsGamerd
(E) Answer not known
aenL Qs flwelcenc

GS05-270524 7 www.mntfreeias.com
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19. The magnitude of an earthquake is measured by
Heo pH&sSSenr ynmd Gadelen o erailene PPGLD ET&HSEMLD.
(A) Seismograph
EavCordlymeoll
(B) Richter scale
Ae&Lf erey Camed
(C) Ammeter
PTYY.
(D) Rotameter
Crm_GLnr By
(E) Answer not known
enL Qg flwellcene

20. Assertion (A) : The Pacific Ocean includes two thirds of the world’s volcanoes.
gapm: 2 odler eperPler Qreawh umE erflbeneger LANSG SL6lld 2 drerg).
Reason (R) : The boundary along the Eastern and Western coast areas of the Pacific
Ocean is known as the Pacific Ring of Fire.
smpenrd: ULSNGsLller CohE wHNL HPsEEs sLpsarl ugdHeow LSS
QB@LIL euenerwid erew Henp&HComid.

(A) AandR are correct and A explains R
Gapmib snrrew@pd &fl sFmpenpsd snyewd sflunrs elersESng
(B) A andR are correct but A does not explain R
oMb STreampd &fl e Fmpenms sryeawd FFlwns ellerssedlcene
(C) Aisincorrectbut R is correct
gapm &fl sTrewd Seuml
(D) Both A and R are incorrect
SaMMILD STTE(LPLD S 6UM T 6w 6n el
(E) Answer not known
enL Qg flwellcene

21. Courtallam fallsislocated acrossthe__ river.
@oore Breipss ANNES GNSESTS S MDHFIETETS).
(A) Cauvery
&rCauifl
(B) Pennar
(1L 6o 6mr I M)
(C) Chittar
Ao
(D) Vvaigai
MU &
(E) Answer not known
len Qgflwellcrene

GS05-270524 8 www.mntfreeias.com
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22. Assertion (A) : The deltas are formed near the mouth of the river.
gapm . WPaSH Il LUGHUYIL Y msarmed G réser o meurderner.
Reason (R) : The velocity of the river becomes slow when it approaches the sea.
snrewid | L@ uGHew Y m evLuww Curg ynder Causbd Genmujwb.
(A) Both A and R are correct
Sam WLWOHMD sTrewd Qrew@Hd &ifl
(B) Aiscorrect and R is wrong
gapm &fl LHMD STrewrd Heum
(C) Aiswrongand Ris correct
oM Seum WOMD STrewrd &il
(D) Both A and R are wrong
Safm WO STrewd Qreawr@®L FHeum
(E) Answer not known
en Qgflwellcene

23. Caucasoid raceis also known as race
sn&Essnlp Qardams GTEIMILD DIENLPSSHEMLD.

(A) European

oCrriwiyser

(B) Negroid
B&Crmup &en

(C) Mangoloid
wrGCsredlwiser

(D) Australoid
2,60 S Creflwiys e

(E) Answer not known
enL Qg flwelcene

24. Where is the largest solar power project situated in India?
Blauoufilu Gflu P oHod b @hSureded amE emwbglererg)?
(A) Kamuthi
supé

(B) Aralvaimozhi
YR (T (TRTATRY T

(C) Muppandal
PULBSD

(D) Neyveli
QB uIGaeuad

(E) Answer not known
enL Qg Flwelcene

GS05-270524 9 www.mntfreeias.com
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25. Electricity produced from coal is called---------------
Hossflulambs 2phuss QeuiwliL@n Wergmy
(A) Thermal Power

Qaulings

(B) Nuclear power
W55 S

(C) Solar power
&flu &54

(D) Hydel power
By phped

(E) Answer not known
aenL Q5 flwelcenc

26. In which state is the Kaziranga national park located.
s wrhlasde srirmsr Csfw Lmasr amwbglerens?
(A) Rajasthan

Qrmregeiv & meir
(B) West Bengal
Con@ eumISTerLd
(C) Assam
9| &FMLD
(D) Gujarat
CEDLE
(E) Answer not known
lenL Qg flwellcene

27. The --------crcmevm-- separates North America from Asia
aL ewflésrTeneuub <y fwumreneuubd &S mzy.
(A) Bering Strait
Cuflidi B85 &pd
(B) Palk Strait
urd 57 snd)
(C) Malacca Strait
werssr Br Fh
(D) Gibraltar straits
dlurrory 57 shd
(E) Answer not known

enL Qg Flwelcene

GS05-270524 10 www.mntfreeias.com
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28, - is known as the “sugar bowl of the world”
o wdlen FfGsanrs Samawd Tawm HmWPSSLILGS DI
(A) Mexico
Qu&eCam
(B) USA
9Qwf&sm
(C) Canada
S
(D) Cuba
Sw,um

(E) Answer not known
alenL Q5 Flwelcenc

29, -ememeeeeee basin gets rainfall every day because of its equatorial location
ywidwu Crens u@Huled Qmuugme alghlols u@Gens HernbGgHmmLwD
wenp CumEms.

(A) The Mackenzie
QL &C\& cren]

(B) The Orinoco
@flarmGam

(C) The Amazon
9|Cwamer

(D) The Parand
LIFmeorm

(E) Answer not known
den Qgflwellema

30. The science of map making is called

HoauenruL b 2 (Heurd@ s edler o Medlwe Nfley e & aLILIB S D)
(A) Geography

Hellulwed (RQCwrdlymaola)
(B) Cartography

srrCLrélymeol
(C) Physiography
el Gurd A
(D) Physical Geography
Quads Lelufwed
(E) Answer not known
cdlenL Qg flwellcvene

GS05-270524 11 www.mntfreeias.com
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31. Which causes enormous physical damage to property, loss of life and change in the

environment.

QumrmLCGsswb, 2ullflliy wHmb &HHESGLSe Quflu wrHnsas HEPSSHD @M

Qupenss smyeunfl

(A) Hazard
gLy

(B) Disaster
Culr

(C) Recovery

By
(D) Mitigation
LLHUUBHS S
(E) Answer not known

aenL Q5 flwellcenec

32. Assertion (A) Sudden movement (or) trembling of the earth’s crust is called an
Earthquake
gapm: Sef mafe] Howg LWlufear Colarliyd ghubhd pESsL el HHFes
G-
Reason (R) : Movement of the tectonic plates, mass wasting, surface fault all leads
to earthquake
smyenrd: CQL&Lnaflé sL(psellen Bafe, LRarCbm&Esy, berey Cumerpeneu e
2815856 o586 Adpar.
(A) AandR are correct and A explains R
gam WLWOHMD sTrewd &f, sphn sTrawsans alersGSHmE)
(B) A andR are correct but A does not explain R
Sam WLWOMD sTrewd &fl, sapmn sTrawdens olersseldlcwene
(C) Aisin correctbutRis correct
oM Seum, Sryewrd &ifl
(D) Both A and R are incorrect
afm WO STrewd Q@O FHeum
(E) Answer not known

aenL Q5Flwelcenc

GS05-270524 12 www.mntfreeias.com
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33. Which one of the following is the most widespread most and productive category of

soil

SpssaT_cupHed GTeUGUMSE G LITUMTED & aueT(peTaTSTSa|d 2 eTerg)?

(A) Alluvial soil
GUGUITL_G) LD Guor

(B) Black soil
&flEe Lbewr

(C) Redsoil
Q&b Lo evor

(D) Mountain soil
LDEHGV LD 6T

(E) Answer not known
enL Qg flwellcene

34. Match the following.

Qumm s 3 s:
a. Granite - 1. Bed rock
ymen e Sl LiLimenm
b. Soil layer - 2. Plutonic rock
wear HH&ES O|IGWITPLl LITEnM & 6iT
c.Barren island - 3. Strip farming
unyenr $ay ulen s uuliflc Geuermenrenio
d.Soil conservation - 4. Active Volcano
LDGUT GUGTLILIMG) & TLIL QeweLHb erflienew
(A) 2143
(B) 2134
(C) 4321
(D) 3421

(E) Answer not known
enL Qg flwelcene

35. Earth’s atmosphere contains about percentage of nitrogen and oxygen.
Heluflerr eueifloeur_coid M6 Lo mILD 24,8 lgen
Sjerenaud Clsmeur(hHererg).

(A) 78% and 21%
78% wpmid 21%
(B) 22% and 1%
22% wpmid 1%
(C) 21% and 0.97%
21% wpmid 0.97%
(D) 10% and 20%
10 wpmwbd 20%
(E) Answer not known
cllenL Qg flwellcvene
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36.

is used to measure the humidity.

erarm SHMHel FrLLSSMS JeaTésl LwerUbhEmg.

(A) Anemometer
& miLomefl
(B) Barometer
Siwss wrah
(C) Hygrometer
Frhlenc Lomef
(D) Thermometer
Qeuliu el
(E) Answer not known
en Qg flwellcene

37. The main reason for the development of urbanisation in pre-historic period was

38.

UTMHNIEES PHMSW STSHSHD HSFLWLNESNES (PSS STrenrd

(A) Production of food grains
2 awrey el 2 HuGS

(B) Domestication of cattle
STOBHENL. GUETTLIL

(C) Fishing
e Vg5

(D) hunting
CaulenLwir@sed

(E) Answer not known
enL Qg flweilcene

Statement (A) : Urbanisation is mainly due to the movement of people from rural to
cities.
FaDM: BSTLWLTS® PSHwwrs Srrwliyp wEse psiUnSSHE @Lb CuwFegme
FHUOUSTGSLD.
Reason (R) : Rural to Urban migration is not a predominant one.
sryenrd: Hrrwsded QmbEH BarsHHNG QLD QUWTSH (PSETENIOWITET 6 6 DH66
(A) Ais correct butRisincorrect
gapm &fl Qe STrewTd Feum
(B) Both A and R are incorrect
Safm WO STrewd Qrewr@®L FHeum
(C) Both A and R are correct
am WLWOHMD STrewd Qreaw@Hd &ifl
(D) Aisincorrect and R is correct
oM Seum WOHMD STrewrd &il
(E) Answer not known
cllenL Qg flwellcvene
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39. Tsunami in the Indian Ocean took place in the year

@iHwl QUEBESL® SerTLd QD QY TIgD FHULLFI.
(A) 1990

(B) 2004

(C) 2005

(D) 2008

(E) Answer not known

cllenL Qg flwellcvene

40. Silk weaving and household industries come under the category of

U@ QBsey wHmd 5O 2uCGurst QU6 ETi5He QgL e ki &6r

Wfleysefler S eumdlermen.
(A) Small scale industry
Aflu eralleoren GgrHesDd
(B) Large scale industry
CQuflu erellooren G TH&LD
(C) Marine based industry
sLeuerd Fripg GCgmpleosd
(D) Capital intensive industry
gpgeard Fnihs CsThleosd
(E) Answer not known
cllenL Qg flweillcvene

41. Iron and Steel and Cement Industries are examples of industries.
QL 6@ wHmwb Hower’ 6gmLfesmniser QBTN EISEHE G
Snps THSSHSSTLLIGLD.
(A) Agrobased

Geuernenr &iHS
(B) Mineral based
saflld euerd FMiHS
(C) Forestbased
auarll QurpLser &TiHS
(D) Marine based
SLG GUeTD &FMTHS
(E) Answer not known
cllenL Qg flwellcvene

GS05-270524 15 www.mntfreeias.com



"NPSC - Group - IV & VAO Exam - Online Test Series
42. The man-made canal through an isthmus between Egypt and Sinai Peninsula is
adufpagn SHAami  SushusHpeL QeoLuld @Em HoFspd aflurs
2 haurdslul L QFuhens Smeeumil .
(A) Panama Canal
LIGUITLOM &6V Gl
(B) Aswan Canal
S| GVGUTGH & TGV GU T
(C) Suez Canal
GWaev STeaumil
(D) Albert Canel
QLOUTL. STEO6UTW
(E) Answer not known
enL Qg flwellcene

43. Match:
Qumrms35:

a.Legend - 1. 45
yellluL elen& s 45

b.North East - 2. brown colour
UL SPEG Uy Hmw

c.Contour Line - 3. thematic map
g 2wrsCsrH & (5 S SILIL_BI & 6T

d.Cadastral map - 4. key of a map
& mewof] LI LI L1 & @it yelliuL sdlenr SHmeyCamed

e.Choropleth - 5. Taxation
Bppulen i UL aufl ey

a) 3,5,1,4,2

(B) 4,1,2,5,3

(©) 2,5,1,3,4

(D) 5,2,4,1,3

(E) Answer not known
enL Qg flwellcene

44. The point of origin of an Earthquake is called the
Hell dfe] 2 (peun@d Lerefl ram SmPESLILGS DG
(A) Epicentre

Ceaenwwid
(B) Focus
Spenowid
(C) Seismic wave
Lol Siey jemevsear
(D) Magnitude
Hel fljellenr Salyd
(E) Answer not known
len Qg flwellcrene
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45. The disintegration or decomposition of rocks is generally called as
urenpaeflen Hengamaad oLfHab aern mPESLILHEDF.
(A) Weathering
anafleneé flengay
(B) Erosion
R DIEETY
(C) Transportation
SL55IS®
(D) Deposition

Uig Wen eSS e.
(E) Answer not known
alenL Q5 Flwelcenc

46. The process of change of state of water from gaseous to liquid state is called
amy Hoould®Big Hrau Howsd Brrag wrpfan CFwdurigeamen
eram enpsElenComid.
(A) Precipitation
Qumfley
(B) Evaporation

pewrg e

(C) Transpiration
BrrelliCGuns@

(D) Condensation
& (HE G S 60

(E) Answer not known
den Qgflwellema

47. The temperature of the ocean waters generally at greater depth.
Qum@risLllenr QauliuBlenew Hsms CrrsEdHs Csamws GlFde
(A) Increases
9 H&fl& @
(B) Decreases
Gemou|Ld
(C) Remains constant
207 eTeuns Q@& GLWw
(D) None of the above
Copsear ergeLllcoene
(E) Answer not known
cdlenL Qg flwellcvene
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48. Which of the following is not correctly matched?
NWeraumeuameaupmer sflwunsll QUIBHESTSS o5 ?
(A) Gulf Stream - Pacific Ocean
auemear@Lr FCrmiLb - 9NA9E Qu@BRSL®
(B) Labrador current - North Atlantic Ocean

oriurLry sLoBCrmiLib-euL |l eremiqd GLHBISL

(C) Canary current -Mediterraneansea
CaanflaL B CrmlLLb-10&Hwsemrs L e

(D) Mozambique current -Indian Ocean

Qurerbllé sLOFCrriL- @bHwl QUEBEISL O

(E) Answer not known
alenL Q5 Flwelcenc

49. The coldest biome on Earth is
Helullenr @eflféflwmenr Lo@uilfs6snEs
(A) Tundra

s
(B) Taiga
®L&T
(C) Desert
LI T 6 60 G GUTLD
(D) Oceans
QL (T MBI & L 60 & 6iT
(E) Answer not known
denL Qg flweilldeme

50. The ‘World Population Day’ is observed on

every year.

@Gy Yyar@b 2085 wWEsE CsTans Sarbd
senL g &5LUO S D).
(A) August1ith
< savlh 11
(B) September 11th
Qesliuwuy 11
(C) July 11th
gOama 11
(D) January 11th
areufl 11
(E) Answer not known
cdlenL Qg flwellcvene

QLD e
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51. Sesahachalam hills, a Biosphere reserve is situated in

Cragread 2 WIFECsTer QUL S enwhHglerer HeLD
(A) Tamil Nadu
SIALL(O)
(B) Andhra Pradesh
B Héru HrGCgewb
(C) Madhya Pradesh
wsHwl KNrGsab
(D) Karnataka
STHTL&T
(E) Answer not known
aenL Q5 flwelcenc

52. Assertion(A) : Ozone layer in the stratosphere is considered as a protective shield.
gapm (A) : u@Sms JH&SlD oeter @Csmenr ULSMs umgsTiL CasLwibd
eren &l Gomib.

Reason(R) : It prevents the UV radiation from reaching the earth’s surface.
sngewd (R) @ yp ecwsnssdly ofds yalemw enLwnwed s5H&SnE.
(A) AandR are correct and A explains R
A ab Rib &fl womib A ererug Rem sflumen eNer&sid.
(B) A andR are correct, but A does not explain R
A wpmb R @rem@w &fl. g eamme, Aeuneng Renm sflumer ellerdswee.
(C) Aisincorrect butRis correct
A saum. yeme, R &fl.
(D) Both A and R are incorrect
A vpmid R @rear@hin &fl.
(E) Answer not known
lenL Qg flweillcene

53. GPS consists of a constellation of satellites.
2085 emwalLgmg sar_fuywd QargdHuieo (GPS) uvweru@®SsLLBHLD
QewmnenssCamers 6r
Aa) 7
(B) 24
(c) 32
(D) 64
(E) Answer not known
enL Qg Flwelcene
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54. Which of the following statements belongs to responding to earthquakes?

Spsarayd QerpprLigseiles egy Hophsssans aff CardaeauCsr@
QerjyenLwg?
(A) Avoid any place where police or security forces action is in progress.
‘areud glenm wHMIL UTHSTULL UenLufery urgsril uenflufic
FOULRMSGD UGHsErEEGE e GeuerLmb”.
(B) Know the height of your street above sea level and the distance of your street
from the coast.
‘Lo LLLSHN MBS 2miser Qg ereucuene 2 W e 2 ererg OMHDILD
sLCanrs il (phg ereucieney FHNTSHM SenOHGIETETS 6T eus
Qs flBgCsETeTeTELD”.
(C) Stay away from glass, windows, outside doors and walls and anything that
could fall.
‘samemmip& senrene, Celeall&sgea|ser, seuf wHMWD ereflfled ol saiquw
CsrrIgL Werellers@ser WHMWD WrFsmwrenser GLimermeud e mbg
e &ludl(m & & e b’
(D) Before opening a door, feel it with the back of your hand.
‘apmeud SHpLLsHNE PETl LpRansWTd sgamead Qsri( Ceuliuwns
2 WIHHTD SHemeud Hnés CeuewrLmb”.
(E) Answer not known

denL Qg flweilena

55. River is known as ‘Sorrow of Bihar’.
darfler Fwrb eremm HWESLILGHL M)
(A) Narmada
BT
(B) Godavari
Cangmaufl
(C) Kosi
Candl
(D) Damodar
sTCwrsy
(E) Answer not known

aenL Q5 flwelcenc
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56. The Palk Strait and Gulf of Mannar separates India from ______
urd Brepd LHMID WETETT GUEN6TEGLT & @b Hwredl O b3
A& S mazy.

(A) Goa
Cameun
(B) West Bengal
Con@ eumiSTerLd
(C) SriLanka
e FeOmIST
(D) Maldives
wreg S e
(E) Answer not known
enL Qg flwellcene

57. Pulicat Lake is located between the states of
uCGaupsr@® el wrhlokseEpsdaLCu amwbglereng).
(A) West Bengal and Odisha
CohE euismerd WHNHID 6lg&m
(B) Karnataka and Kerala
SFBIL&T wHnib Cayerm
(C) Odisha and Andhra Pradesh
@uem LHYD HATL KTGsED
(D) Tamil Nadu and Andhra Pradesh
sURETE wHgd pHAT HrGssw
(E) Answer not known
enL Qg flweilcene

58. Match List - I to List - Il and answer the following using the codes given.
ulgwe | ulguwe Il o6 QurmsgHs. GHubhsmen LweaTL@SS edllenLwiefl.

List -1 List -1I
uligued | uliguwed |l
a. Niger - 1) Lowest literacy rate
2F)) Nsss Geanphs soalwde] alfsbd
b.Singapore - 2) Highest sex ratio
AL F & flaswrer uraler alldlsLd
c.Burkina faso - 3) Highest fertility rate
uffGerr LurGam e ofas Qearliumss al8gWD
d.Latvia - 4) Highest nutritional density
orelwm s s oa’ L 555 o145
(A) 3412
(B) 1234
() 4321
(D) 4132

(E) Answer not known
enL Qg flwellcene
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59. The monsoon forests are otherwise called as

L@eussTHm SThHEer Qeleumrm SenlpdsLiL{Slerme.
(A) Tropical evergreen forest

S|W6N T L&D rmré &b &er
(B) Deciduous forest

Qoowdis st se6r
(C) Mangrove forest

wriiEGCrmeu &m{H & 6T
(D) Mountain forest

LMV & &M (h & 6T
(E) Answer not known

lenL Qg flwellcene

60. Which of the following atmospheric structures absorbs the ultraviolet rays of the
sun and protects the earth from intense heating?
Mereu@pd auaflweameo Henwliled Gilweaflb Qmba cu@mb Lp easnsd sHiseaner
2 LSlpdlgg el QeauliuenLwnoed urgasnil h&@ erag?
(A) Troposphere
SRwdES
(B) Ozonosphere
@Canenr H(H&G
(C) Thermosphere
Qeulin HH &G
(D) Exosphere
Qeuellu®&s
(E) Answer not known
en Qgflwellcvema

61. Assertion(A) : The Himalayas acts as a climatic barrier.
gapm: (@) @ow oW @M sToflamw Jravrssd CFwoLGSDS.
Reason(R) : The Himalayas prevents cold winds from central Asia and keep the
Indian Sub-continent warm.
srremd. (R) @uuweme wiHhu HyfHurddipng ofsb Gealfssrhan 56058
Qpdus gmeawssar_sms WsGeauLILILTS maudHHeESng.
(A) Both (A) and (B) are true: R explains A
A o R @reaw@w &fl, sapméasner sryernd &l
(B) Both (A) and (B) are true: R does not explain A
A oo R @raw@w &fl, sapmésner sryewrd Heum.
(C) (A)is correct (R) is false
gapm &fl sTrewd FHeum.
(D) (A) is false (R) is true
oM Seum snyewrd &ifl.
(E) Answer not known
cdlenL Qg flwellcvene
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62. Which of the following organization has divided the Indian soils into 8 major
groups?
hs Hmeuerd QpSHwunele o crer weaw cuemssener 8 CuUEL YfleysernsL
NS gererg?
(A) Indian Council of Agricultural Research
QrHw Ceuermerr <y rmi&s Hmeuend
(B) Indian Meteorological Department
Qpdwu euraflwe genm
(C) Soil Survey of India
QiHwu wer Mellwe BHmeuerid
(D) Indian Institute of Soil Science
QrHw e ey Hmeuerd
(E) Answer not known
lenL Qg flwelldene

63. Assertion (A) : The Nilgiris is the least populated district of Tamil Nadu
gapn: Bodlfl sOPBT LT GmDHS WEEAESTNE CSTeTL LOTGULL LD.
Reason (R) : Itis located in the western most part of Tamil Nadu.
snyewd: @5 sBlLBETLger CoHE LGSO enwbgierens.

(A) Both (A) and (R) are true and (R) explains (A)
oM WHMD srrewd @reaw@n &fl srrewd sFmpenp elars:GEng.
(B) Both (A) and (R) are true but, (R) does not explain (A)
gapm wHMWD sryewrd Ffl o enred sTyawTd FapmiSsTen sflurer efleTssLd
V.
(C) (A) is true but (R) is false
gapm &fl eI STFEWTD S6um.
(D) (A) is false but (R) is false
Fadm Seum Qe smyewrd &il.
(E) Answer not known
alenL. Q5Flwelcenc

64. Thelongest dam in the world is
2 wfCaCw & Berwrer ojenenr
(A) Mettur dam

CuL BT emeuwr
(B) Kosidam
Candl o emeuwr
(C) Hirakud dam
adlFrGL | ememr
(D) Bhakra-Nangal dam
USTIHRISOD |6 6w
(E) Answer not known
cdlenL Qg flweillcvene

GS05-270524 23 www.mntfreeias.com



.‘NPSC - Group - IV & VAO Exam - Online Test Series

65. Theleading producer of rice in India is

@idwurailes yflabd Cped eNenerubd WwMHLW

(A) Punjab

L@ &ML
(B) Maharashtra

D& T Ig [T
(C) Uttar Pradesh

2 557U 9rCs LD
(D) West Bengal

CoHE@ eumISTerLd
(E) Answer not known

aenL Q5 flwelcenc

66. Which crop is called “Golden Fibre” in India?

@isurailer s @enpll LUNF eTenr dPSSLILIHUF

(A) Cotton
L®SS
(B) Wheat
Canglenio
(C) Jute
& GUIT GV
(D) Tobacco
L& & ullenev
(E) Answer not known

lenL Qg flwellcene

67. The city which is called as the manchester of south India is

QgeneflipHwnelen wrerGFaLF eremm HenPESLULGHL BSFLD.

(A) Chennai
Q& 61 m 6w
(B) Salem
Caed
(C) Madurai
D GlIeny
(D) Coimbatore
CamubL S gy
(E) Answer not known
enL Qg flwelcense
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68. The first Jute mill of India was established at
@rdwureller psed Fared Yeneo HmeuliL @ Lb.
(A) Kolkata
OE] F-F- X))
(B) Mumbai
(Ppenul
(C) Ahmedabad
SISHFHTUTS
(D) Baroda
uComrm
(E) Answer not known
cllenL Qg flwellcvene

69. Which of the following is not covered by the Nilgiri Biosphere?
Spsar_eapie org Fodfl 2ulfsCasneargfn@er aurngg.
(A) Bandipur National Park
unery i Cafwymian
(B) Nagarhole National Park
prajCaneiler GCpHlwman
(C) NamdaphaNational park
Fflevar L&6T STLLSLD
(D) Mukurthi National park
wers Csdu ymasr
(E) Answer not known
aenL Q5 flwelcensc

70. One of the shore based steel plants of India is located at
QiHw sLpasnr UGS QML @ CSTHNOSEISERET @aTm Semwbglerer QL LD.
(A) Kolkata
Carosssn

(B) Tuticorin
ENEEEICTS

(C) Goa
Cameum

(D) Visakhapatnam
fFrsLuL g GurLd

(E) Answer not known
en Qgflwellcrene
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71. One among the given is the world’s highest active volcano.
Qarhssuulperataupdled 2 dlen e 2 wrwrear QEwdU@L erfloene
(A) Mt. Vesuvius

Qauseflwev erfloemned
(B) Mt. Stromboli
ev_grCumrel erfloemne
(C) Mt. Cotopaxi
QasrlLurss erflbene
(D) Mt. Krakatau
&r&585_L1Geur erfloeneo
(E) Answer not known
aenL Q5 flwelcenc

72. Viticulture or grape cultivation is a speciality of

My s0FFT g SHrriens Frguly Apliunrs FeoLCumiw QL Lb
(A) The Pampas region

urburen LGS
(B) The savannah region

seurenm LGS
(C) The Sahara region

gSMIT UGS
(D) The Mediterranean region

LI SOIESH_O LGS
(E) Answer not known

lenL Qg flwellcene

73. The National Remote sensing Centre(NRSC) is located at
Caflu Qsreneujenrie] MWD enhglerer @L Lb
(A) Bengaluru
QLI & e6h (1

(B) Chennai
Q& 6trem Gor

(C) Delhi
gl QLcved

(D) Hyderabad
MAMSTTUNS

(E) Answer not known
enL Qg flwelcene
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74. Assertion (A) : Tamil Nadu does not receive much rainfall from southwest monsoon.
gapm: SWOPHETEH COHenCLHEG LMmausTHn Srorigeflce HHs wanpawlitumealoeane.
Reason (R) : It is situated in the rain shadow area of the Western Ghats.
snyewd: @ Cwhpe OCsrifsfl weneuler wenw wepell LKIFCsss Sl
S| en Lo h G 6T 6T )
(A) Both (A) and (R) are true and (R) explains (A)
gapm, srrewd @reaw@®n &fl. srrewd smpenp olard @S ng)
(B) Both (A) and (R) are true but, (R) does not explain (A)
gapml, sTreawd Qrawh Ffl. Hemd STrawhd Sphenm elersseldene
(C) (A) istrue but (R) is false.
gapm &fl. Q6T SMyEd Heum
(D) (R)is true but, (A) is false.
snyeud &fl. Y emd Fadmn Heum
(E) Answer not known
enL Qg flwelcene

75. Which one of the following rivers flows into the Arabian Sea?
Epssam_cupe ris sLdld &G Y n org?
(A) Periyar
Quflwmy
(B) Cauvery
sradifl
(C) Chittar
Apomy
(D) Bhavani
ueumef
(E) Answer not known
alenL Q5 Flwelcenc

76. The area of a rectangular land is 240m?2. If 8 CM is decreased from its length it will
become a square. Then the length and breadth of the land respectively are...
em Csaeaus Hogdear urliiueare 240 Q#1852 HGW. s BarsSHalBHg 8QFLS
GODNSSTOD g sFTwrs wryb. KNerery HleodHen Berbd LHHWL oW WPepCu...
(A) 12cm,20cm
(B) 20cm,12 cm
(C) 12cm,8cm
(D) 20cm,8cm
(E) Answer not known
enL Qg Flwelcene
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77. Ahorse is tethered to one corner of a rectangular field of dimensions 60 m by 42 m
by a rope 14 m long for grazing. How much area can? The horse left ungrazed?
@M GHar 608 4218 gereydrer QFcicusll ardHed @ cpmauilcr CLUIFFYEHTS
148 Berqperer sWppred Qenawssliulerearg. GHamrgemw Cowrs QL sSen
UrLILeTe STeums?
(A) 2366 m2
(B) 1827 m2
(C) 1366 m2
(D) 2212 m2
(E) Answer not known

enL Q5 Flwelcenc

78. The sides of a triangle are 8 m, 10 m and 6 m, then the area of the triangle is
em wsGsramsder ussmasear 85, 108 wHmb 615, WNeweny wW&Csmanrs e
ugluerey?
(A) 18 m2
(B) 24m2
(C) 86m2
(D) 72m2
(E) Answer not known
alenL Q5Flweilcrene

79. Theratio oflength and breadth of arectangle is 3:2 respectively. The respective ratio
of its perimeter and area is 5:9. What is the breadth of the rectangle in metres?
em Osaeussder Herd wHMD s Nflsb WeanpGu 32 Y GW. G
shmerey wHMD urluereller ol&gw 5:9 g EW. Cedussfler ysd eTemen?
(A) 6m
(B) 8m
() 9m
(D) 13m
(E) Answer not known
dlenL Qg flwellcvene

80. Find the length of the altitude of an equilateral triangle of sides 3v3 cm

3V3 Q&S mpusaswrs QararL Fwuss WECarTansden GSHWITL Smems?
(A) 5.4

(B) 4.5

(c) 4.0

(D) 4.2

(E) Answer not known

enL QgFlwelcenc
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81. In a circular path, the radii of 2 concentric circles are 56 m and 49 m. Find the area

of the circular path.

e®m alLl urensuied, @ram® Qurgeww el L kisefler o rRiser 5618 wHmb
4918. aullL urengulenr uFliLene] SewrLHluieyLb.

(A) 3210 m2

(B) 3120 m2

(C) 2310 m2

(D) 2130 m2

(E) Answer not known

en Qgflwellcrene

82. Aplayground 60 m x 40 m is extended on all sides by 3 m. What is the extended area
@m omearwurl @ ewgrerd 608 x 408 oarssy usshsafigd 35
dAfleyu@ssuBGdpg. alflaurssiin’L uGHullenr LFlIL6ETe| 6Temen?

(A) 366 m2
(B) 636 m2
(C) 666 m2
(D) 638m2
(E) Answer not known

denL Q5Flwelcrene

83. The measures of the angles of a triangle are in the ratio 5: 4:3. Find the angles of the
triangle?
@M wsCaransdler Camammasefler alflgd 5 4: 3 eerm eNflg55He o creren.
Wp&ECanamgHen Camamrmiseamend &evrLm?
(A) 65° 60°and 55°
(B) 85° 50° and 45°
(C) 75°,70° and 35°
(D) 75° 60° and 45°
(E) Answer not known

cllenL Qg flweillcvene
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84.

85.

86.

A plot of land is in the form of a quadrilateral where one of its diagonals is 100 m
long. If two vertices on either side of this diagonals are 50 m away from the diagonal.
Find the area of the plot of land

@@ Holugd em BrHsr ageld o derg, g6 cpanvall L misafld germ 100
5 Berd QararLgl. @65 cparoallLsear aHOrdly Lsasmsailer o drer (Lpenenser
Qrawp epmeallLsH®mbg 50 B Qsreanaaid Qmbsred feosHer LiFLiLieTeneud
& ator L Wi & LD

(A) 5000 m2

(B) 1000 m2

(C) 10000 m2

(D) 500 m2

(E) Answer not known

len Qg flweillcena

Volume of a hollow sphere is 11352/7 cm3. If the outer radius is 8 cm, find the inner
radius of the sphere

@@ cdeafLpn CarargHen sen ety 11352/7 Q&153. Qauefliiyp <y 8 G&b
crarmred, Gamensdlen 2.6 b Heam@p iy &sa6 L.

(A) 6cm

(B) 8cm

(C) 5cm

(D) 7cm

(E) Answer not known

lenL Qg flwellcene

Ratio of Volumes of cube and Sphere is 6/5x. Find the ratio of side of cube and radius
of sphere.
san FgID wHMD CararsHen CsrEdsaflen gD 6/|:|. sanEgrSHen LSS
womb Carersdlen oy Y fwander Nfss5mss semrHuebd.
(A) 2:1
(B) 3:1
(C) 4:1
(D) 5:1
(E) Answer not known
enL Qg flwellcrene
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87. An open rectangular tank is made of concrete, the sides and base being 30 cm thick.

Internally the tank is 8m long, 4 m broad and 3 m high. Find its weight in kg, if
concrete weighs 1 kg per 1000 cubic centimetre.
em SHnbs Qs QsTily sTardlflLrd g, USSESEHL gdserpd 30
Q&.15. 2L pwrs Qsmiguiler Berd 8 S, s 4 5 wHmb 2wrd 3 LS.
snandlf 1000 ser QsenglSL(hé@ 1 HCor erenweardns QMBSTD, S 6m
aenLenw HCoraller serHlwie|b.
(A) 34,548kg
(B) 44,416 kg
(C) 39,416 kg
(D) 40,000kg
(E) Answer not known

enL Qg flwellcene

88. If the capacity of a cylindrical tank is 1848 m3 and the diameter of its base is 14 m,

then find the depth of the tank?

@M 2 memerd GQsTiiguien Gameraterey 1848 53 wHmID F6m IjigLliLi@SHullen
oL b 14 5 eraficd, Qsmiiquien o WHnssds SamBiig?

(A) 12m

(B) 13m

(C) 14m

(D) 15m

(E) Answer not known

alenL Q5 Flwelcene

89. A heap of paddy is in the form of a right circular cone whose diameter is 4.2 m and
height 2.8 m. If the heap is to be covered exactly by a canvas to protect it from rain,
find the area of the canvas required.

Opd @elwe 4.2 15 e wHmd 2.8 5 2wrd CsTaTL 6uwg L L & JaldL
aulgelled 2 arengl. wenpuilliMBG LUNTFSTES Galwe sflurs Csereumevmed epLLiLIL
Couar@d erewrpmed, Coemeuwnrenr Csemeumedlen LFLiLieTene &etrLHlwleyLd.

(A) 22.6 m2

(B) 27.2m2

(C) 23.1m2

(D) 11.3m2

(E) Answer not known

len Qg flweillcene
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90. Using the clay, Malar makes a cone, a hemisphere and a cylinder have equal bases

and the heights of the cone and a cylinder are equal. They same as the common
radius then find the ratio of their respective volumes
saflbawenenl LweatLBSSH, LT @@ Faldl, @@ HorsGHETeard WLHMID @
Al g Sweneu FwOTE QUL WLOHDHWL SFbller 2 wWrL WHMD @
2 (menarlen 2 Wy &S PHSEGWL Uy QsWsTD.Cogd Qeeurd Y rsansLl
CureCeu QméEWL. Qbepern ageuBisealar sar yeraysefenr  Nssmss
& euor Ll u|Ld
(A) 1:2:3
(B) 1:2:4
(C) 1:2:6
(D) 1:2:8
(E) Answer not known

enL Qgflwelcene

91. The radius of a spherical balloon increases from 7cm to 14 cm as air is being pumped
into it. Find the ratio of surface areas of the balloon in two cases
@ Carer culg.cu Ligrafen L rib 7 Q&l (pse 14 Q&8 eueny srHm QFe s LILIG ST
fafsfng. uanaier Copurly ugdseiar Nflssems Qreawh Hapesafc
& e L[l W& Ld
(A) 1:27
(B) 1:4
(C) 1:9
(D) 1:8
(E) Answer not known
enL QgFlwelcenc

92. The volume of a solid hemisphere is 29106 cm3. Another hemisphere whose volume
is two-third of the above is carved out. Find the radius of the new hemisphere.
@@ SHwrar ymrsGanarddenr erey 29106 Cs83 oy @w. GG 2 drareunlcd
eperhed @uenr® LMIEG Sere] GararL HCDT®H HemrsCasrerd QagsslLL[HeTarg).
HIw emr&Caneargdlen o rienss semLdlwebd.
(A) 21.5cm
(B) 12cm
(C) 21cm
(D) 23cm
(E) Answer not known
enL Qg flwelcene
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93.

94.

95.

A hemispherical tank of radius 1.75 m is full of water. It is connected with a pipe
which empties the tank at the rate of 7 litres per second, how much time will it take
to empty the tank completely?
1.75 1§ orb QananL @@m SersGsmer Qsriquid seareaty Hybuererg. Qg
@ damgd@ 7 AL erep aldlgsdle Qarigemw srell GQEWIWbD @@ GLmu|L6r
QeemsasliLl(herearg, CsTigerw Wpeaugwrs &redl Qsww eeicuere] GBI
B GL?
(A) 27 minutes

27 HOL_ri&er
(B) 26 minutes

26 HlOlL_rigeir
(C) 72 minutes

72 HOL_ri& e
(D) 62 minutes

62 Bl riger
(E) Answer not known

lenL Qg flweilldeme

A hollow cylindrical iron pipe is of length 35 cm. Its outer and inner diameters are
10 cm and 8 cm respectively, Find the weight of the pipe if 1 cu.cm of iron weighs 7
gm.
@M Qaupn 2 @aer @Y Gwml Berd 35 G&.15. gen Qeueflliyp LHMD 2 6r
L wepGu 10 Q&5 wHmd 8 Q1S., 1 Hw.Qs.d Qmby 7 SHymbd
LW ETenHTs QHHSTD GTuiler erenLenid e MHluleyLlbd.
(A) 6.93kg
(B) 9.90kg
(C) 7.53kg
(D) 7,93kg
(E) Answer not known

denL Q5 flwelcenc

A circus tentis cylindrical to a height of 3 m and conical above it. If the base radius is
52.5 m and slant height of the cone is 53 m, find the area of canvas required to make
the tent.
R FF&Ha FmLrbd 3 5 2wrsHnE 2 memer LHMID HFHG G FaldL 6ulgelc
2 arengl. SjglienL. b 52.5 5 wHmb Faben sriicurenr 2 wrbd 53 5 erafle,
GaLMIdens 2 (Hhaunss GCoeneaiwner GCaemeuradlen LFliLeTencud &ewrflwe|d.
(A) 3157 m2
(B) 3097.5 5t m2
(C) 2782.5tm2
(D) 9735 tm2
(E) Answer not known

aenL Q5 Flwelcensc
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96.

Three solid cubes of sides 1 cm, 6 cm and 8 cm are melted to form a new cube. Find
the total surface area of the cube so formed?
1 Q&5, 6 Q&S wHmb 8 Qeld usshmasalen eperm SHoren saneHrEseT LHw
SMEGHTSMG 2 (Hhaunss 2 (HsLubhSerner. eueurm 2 (HeursslUl L Saagrsden
Qurgs urFliueaTeneud e Hliwled?
(A) 384 cm2
(B) 486 cm2
(C) 456 cm2
(D) 430 cm2
(E) Answer not known
enL Qg flwellcene

97. A cylindrical shaped well of depth 20m and diameter 14m is dug. The dug-out soil is

98.

evenly spread to form a cuboid-platform with base dimensions 20mx14m. Find the
height of the platform.

208 g 1418 AL Qasrar, 2 (hener eugel Hewrm CoramwLiLHADF.
Carewriy er@&SLULL.  wew &wwrs UFell @@ saregir-sadeans 20mx14m
g liuenL. ufloreEisEpLen 2 (haurs@SHng. Coen_ullen 2 wrsans s &earHlwe|Lb.
(A) 44m

(B) 22m

(C) 33m

(D) 11m

(E) Answer not known

lenL Qg flwellcene

The ratio of the volume of a cube to that of a sphere which will exactly fit inside the
cubeis
sansgrsHen sean erellenr NHHupd @M Camarsdler  erellewr aNflHLd
sansgrsHnGer Fflunrsl QummbgLd
(A) 4
(B) 1:m:
(C) 6:x;
(D) m:1
(E) Answer not known
len Qg flweilldene
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99. The volume of a sphere-shaped shot-put is 310.464 cu.cm, then the radius is
@m Camer euge agml-yliger sear ere) 310.464 cu.cm, NGewenry <y,rid
(a) 4.2
(B) 6.4
(C) 4.8
(D) 8.4
(E) Answer not known

en Qgflwellcene

100. The cylinder whose base is not in circular form is called
g SHerd el L allgelledd QO 2 (Hemer allgauld ------- SmpssLLGEng
(A) Circular cylinder
QL 2 (Hener
(B) Right circular cylinder
QUGG QUL 2 (Hemer
(C) Oblique cylinder
ETWUHS 2 (Hener
(D) Irregular Cylinder
RWRSDHD 2 [Hemer
(E) Answer not known
cdlenL Qg flweillcoene

%k %k 3k ok ok ok ok
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SPACE FOR ROUGH WORK
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